1. Establish the relationship between chromosome, DNA and gene.

Ans: Chromosomes are thread-like structures inside the nucleus made up of nucleoproteins,
carrying hereditary units called gene. The chemical components of chromosome are DNA
(deoxyribonucleic acid) and proteins which together form nucleoproteins. The part of DNA which
help to synthesize protein are called gene. Chromatin reticula and chromosomes are actually
different folding states of DNA molecules. Therefore, chromosome, DNA and genes are
interrelated.

2. How are the spindle fibres formed during plant cell division?

Ans: Plant cell contains microtubules instead of centrosome. These cytoplasmic microtubules
which are made up of tubulin protein arrange themselves in a special manner to form spindle.

3. What do you mean by autosome and allosome?

Ans: The chromosomes which control the somatic characters (like height, type of hair etc.) are
called autosomes.

The chromosomes which determine the sex of organisms are called allosomes or sex
chromosomes.

4. \What is nucleotide?

Ans: The structural and functional units of DNA, which are made up of pentose
sugar(deoxyribose/ribose), nitrogenous base and phosphoric acid are called nucleotide.

5. Write the differences between DNA and RNA on the basis of following subjects:

® Type of Sugar
® Nitrogenous base

®Function
Ans:
Subject DNA RNA
1. Type of Sugar 1. Deoxyribose Sugar 1. Ribose Sugar
2. Nitrogenous base 2. Guanine, Adenine, 2. Instead of Thymine, RNA
Cytosine and Thymine. contains Uracil.
3. Function 3. Carries hereditary units 3. Synthesizes protein in the
from one generation to cells.
another generation.




6. What will be the consequences if the control of checkpoints of Cell-Cycle is lost?

Ans: The control of checkpoints of cell cycle is maintained by the protein cyclin and kinase. If
this control is disturbed, the cell-division will be uncontrolled resulting in tumor formation.
Sometimes these tumor cells are carried through blood and cause malignant tumors.
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